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Addition (Word Problems)

Q1. Tina has 4 apples. Meena gave her 2 more. How many apples does Tina
have now?

Solution:

Q2. Ria has 7 cookies and Dia has 2 cookies. How many cookies do they have
together?

Solution:

Q3. Timmy buys 4 pastries from one shop and 4 from another. How many
pastries does he buy in all?

Solution:

Q4. There are 3 butterflies on one plant and 4 on the other. How many
butterflies are there in all on the two plants?

Solution:
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Addition (Word Problems)

Q1. Tina has 4 apples. Meena gave her 2 more. How many apples does Tina
have now?

Solution:
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Q2. Ria has 7 cookies and Dia has 2 cookies. How many cookies do they have
together?
Solution:
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Q3. Timmy buys 4 pastries from one shop and 4 from another. How many
pastries does he buy in all?
Solution:
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Q4. There are 3 butterflies on one plant and 4 on the other. How many
butterflies are there in all on the two plants?

Solution:
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